Gonzalez-Leon2011Geosphere_Fig8l.csv

A B
0.014 0.10
N=38,n=28 N=238,n=28
Concordia age = 69.54 +0.36 Ma [95% conf.] Concordia age = 89.53 +0.36 Ma [95% conf.]
(MSWD of combined = 6.73, p(x?) = 0.00) /a5 0.09 { (MSWD of combineY = 7.35, p(x?)=0.00)
0.013 { Intercept age = 69.09 +0.91 -1.13 Ma (956 conf.) ’ Intercept age = 69.20\+0.37-0.45 Ma (95% conf.)
5 X 0.08 -
2 0.0121 &
— ~ - 0.07 A
S 5
9 0.011 A ,9_ 0.06 -
~N o
o~
0.010 0.051
0.04 ~
0009 T T T T T T T T T T T T T T
0.05 0.06 0.07 0.08 0.09 0.10 0.1 0.12 82.5 85.0 87.5 90.0 92.5 95.0 97.5 100.0
C 207Pb* / 235U D 238U / 206Pb*
N=38,n=28 ,—_— - 2.00
76 7 Weighted mean = 69.67 +0.37 Ma [95% conf.] (MSWD = 2.03) 8 1 ’ TN
Error bars are 95% conf. ,l \
. 7 - ,I \ - 1.75
© 74 A
= 3 6 - 1.50
Q.
()
D 721 % 5 - 1.25
& 5
0 70 - O 4 E - 1.00
A 3 SO—
4_<Q £ 3 [ - 0.75
o 087 > o
© Z 5] — - 0.50
(q\]
66 -
1 1 - 0.25
64 T T T T T T T 0 T 0.00
0 5 10 15 20 25 30 35 64 66 68 70 72 74 76

Number of samples 206pp* / 238 age (Ma)

Th/U



